WMV,M :

BUew .- 2 Name. _[owey chf

oo ¥

ol £ systan

8) fy=2 ) K=

;'2)(+ﬁ/ﬁ:“5§ ,. ?{;;& W} 2(‘5‘)(-"j _ Z;«>
i

O : O i

bt U‘j




| L :H:‘ﬁ) o~ j _‘_wg
¥5) X-24tz="]
~-w$,+§%$ 9

22:**@@

w ,é% = "““i
_ XA2Y — )
I ey o

WEPETS T 2
\Q\(——«B - '”\

| \ 0-y=-k \
5(10X”$ - {) \ Y- /
SABY =5 \

5043y = 2

: _ -
. =3 | Q+2-22= =3
2N-5] o O 2o |
S+ > éf%,,:;vgww )



State the dimension of the matrix.

10
13, [;1 0 _3] 14, [ } 15. [-16 8]
12

72X

Fmd the soluTuon usingBaubsigh efimination pr-Gauss-Jon







